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PART Z: Structured Questions 60
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- - N ﬁlrhﬂﬂ dioxide
b. Carbon Monoxide
c. Nitrogen
4. Which pollutant found in air does NOT have an effect to the respiration:-
‘a. Carbon Monoxide
b. Lead compounds
¢. Oxides of Nitrogen
d. Sulphur dioxide

5. Which products formed at the electrodes when a concentrated solution of
Bﬂ-:lir.un chloride is electrolyzed?

wo0de(-) A B \node(
A Hydrogen B Chlorine
B Hydrogen ] Oxygen
c Sodium Chlorine
D Sodium ___ Dxygen

~ lron

450 | ron
250 | Vanadium (v) Oxide -
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ﬁmm moles are there in 64 grams of Oxygen molecules (02)?
a. 2 moles
b. 4 moles
c. 3 moles
d. 1 mole

11.Q" is an ion of element Q, what has the highest value:-
a. Nucleon number
b. Number of electrons
¢. Number of neutrons
d. Number of protons

12. Rubidium is in group1 metals, which statement is not correct about Rubidium:
a. It has high melting point in lithium
b. Has one electron in its outer shell
¢. Reacts with chiarine to form RbCl
d. It reacts vigorously with cold water
13. Which element will have the largest atomic radius
a. Magnesium
b. Potassium
¢. Rubidium
d. Sodium
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18, Halogeno Alkanes naturally found are:-
" a. Abundent
I b. Rare

c. Plenty
d Pro-found

with Y to produce:-
ﬂﬂ;ﬁ-m i Ethene +Y —— * Ethanol
a. Hydrogen
b. Oxygen
' c. Steam
1 d. Yeast
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20. The mass percent of Oxygen in water (H:0) molecule is:-
a. 80

88
100
. 78
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c. State two uﬂﬁsn!ﬂ'rewmarpunﬁad mthasﬂways‘?

g

e 8
am e mEE

B b -

% nitrogen and 20% Oxygen:

2. The Major gasses in air are 79

a. Name an in the &ir?

olher gaseoaus glement
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b. Eiata :nmpnunds i air*-"

c. Twu pulfulants tn air é.m GG and ND degunbe huw Caﬂ:-un M{:znﬂrlda ls
formed? h'ﬁaﬁ&)
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c. Com p@mﬁx has a relative molecular mass of BB. Calculate the
‘molecular formula? (2 marks)
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4. Ammonia is made by Haber prnnass

a. Describe how hydrogen and nitrogen gases are obtained?

(2 Marks)

b. The above reaction Is carried out at high pressure state the advantages
(2 Marks)

of high pressure
(2 Marks)

Statelwn:: major uses of Ammonia?

! o SUHECH, 2023



ol

-
= a?-.ilﬂ*'"l"

e PP PP PP PR R P e

Th B ek h L “S&ﬂlﬁliljhllulMm]-}]---t{-t-&lh-a-milnn-_—}}:ﬁ?i-tﬁ#ﬁ reEEEEE
I.

e e A e
nr’- i i

g ___1&""‘?1._‘?[#"‘11‘4#-1Ih!_ill-l-i-l!lrll-i-ll-i_lll--l-l-l!_l!i-i-r-lllril-!-Ill'-l-iFl‘ri-‘Il“l""l-".“""'"‘.".'

T R R e e e L EE L h bbbttt

_!‘FH":'.!_!.T.-.'--‘.....q.'q."T.. ------ AmmE L m A s Rl B REm AR AR E R E AR E T e AR - T

B

The structural formuta of two hydrocarbons are shown below:-
H
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. The above hydrocarbons are |somers describe why they are Isomers?
’ (2 Marir.a}

b. Distinguish between structural Isomerism and sterecisomers? (2Marks)
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‘8. Diamond and graphite are two naturally occurring forms of Carbon

“Fe by

(2 Marks)

(2 Marks)
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¢. Explain why graphite can act as a lubricant? (2 Marks)
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c. If Gumpnun:t E rean'lﬁ mth Ux;rgen Hama the pmduct fnnnad?
{2 Maﬂ{ﬂ}

—END---

10
 SUNECE, 2021




	Chemistry Cover 2021
	Chemistry 2021

